é? ; T [l" YeThIpe JAPOOH, JAECATUUHBIE IPOOU, MOPSIOK
‘ J — - oreparyn

Nwms: Jara: Orenka:

~3,8x4—12%2,3+4=

|
5,842,744 = 51420 %4,4+5+4x ;=

3+47><2+1— 2.3 —
4 7 2 ’

SIS
+
W
X
(N )
Il

5,8=5,1x3+4x4,6+2= 14_3X3+%:

1
- 5,7_10X§_2—4X4=
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@] ‘g Qﬂ I ? 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
‘ J T orepanmit
Nwms Jara: Orenka:
1 2 11 1 108 3
2,8—=X5——-—=— ——38x4—-12%x2.3+4=(——)=("21-=
1 503 23 2 761 11
58+2.7%x4+ —-—= — =16— 51+20%x4,4+5+4%x == — =25—
’ ’ 6 3 30 3 30 30
3 1 213 13 2 2 109 19
- +4,7x2+=-=—=10— 2,3—=—+5x—-=—=3—
4 2 20 20 3 5 3 30
58—51><3+4><46*2—(—3) 5,4— 3><3+ (— )—(—31)
: ’ T 10 10

N —

1 359
5.7-10% 3 +2-4x4= (5 )—(—11—)
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